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! Question Description Under BNSS the Court may permit the victim to engage an advocate of his choice to assist the prosecution in the

case of , where the case is dealing by —

A Assistant Public Prosecutor
B Public Prosecutor

c Special Public Prosecutor
D All of the above

E None of the above

Correct Answer C

Marks 1



Question Description

A

Correct Answer

Marks

What is Section 9 of the National Security Act (1980) concerned with?
Detention of individuals
Review of detention orders by Advisory Boards

Temporary release of detainees

Punishment for offenses under the Act

None of the above



Question Description According to provisions of Sec.33 of the Protection of Women from Domestic Violence Act, penalty for not
discharging duty by Protection Officer shall be ----

A Punished with imprisonment not exceeding one year or with fine uptoten thousand rupees or both

B Punished with imprisonment not exceeding one year or with fine upto twenty thousand rupees or both

c Punished with imprisonment not exceeding six or with fine upto ten thousand rupees or both

D Punished with imprisonment not exceeding six months or with fine upto twenty thousand rupees or both
E None of the above

Correct Answer B

Marks 1



4 Question Description Which of the following statements are correct regarding Article 29 of the Indian Constitution?
i. It offers protection to both the religious as well as the linguistic minorities
i. The Constitution has defined the term minority

i. The rights under the Article are also available to the majority.

Select the correct answer using the code given below—

A i and ii only

B ii and iii only

c i and iii only

D i, ii and iii

E None of the above
Correct Answer C

Marks 1



Question Description Under the Prohibition of Child Marriage Act 2006

A Rigorous imprisonment which may extend to two years and shall also be liable to fine
B Simple imprisonment which may extend to two years and shall also be liable to fine

c Rigorous imprisonment which may extend to two years and shall also be liable to fine
D Simple imprisonment which may extend to two years and shall also be liable to fine

E None of the above

Correct Answer A

Marks 1



®  Question Description Consider the following pairs :
Directive Principles of State Policy ( DPSP) Legislations brough by Parliament to implement these principles:

i. To organize village panchayats and to enable them to function as units of self-government 74™ Constitutional
Amendment Act 1992.

i. To make provision for just and humane conditions for work and maternity relief Maternity Benefit Act 1961

i. To promote cottage industries on an individual or cooperation basis in rural areas Khadi and Village Industries
Commission Act 1956

iv. To separate the judiciary from the executive the BharatiyaNayaya Sanhita 2023

How many of the above pairs are correctly matched

A Only one

B Only two

c Only three

D All four

E None of the above
Correct Answer C

Marks 1



Question Description The Child Welfare Committee constituted under the Juvenile Justice Act 2015

A Shall meet at least 10 days in a month
B Shall meet at least 15 days in a month
c Shall meet at least 20 days in a month
D Shall meet at least 21 days in a month
E None of the above

Correct Answer C

Marks 1



Question Description The person who has been convicted for committing an offence of voluntarily causing hurt punishable under section
115(2) of BNS, shall be punished---

A With imprisonment for a term which may extend to one year and with fine extending to ten thousand rupees or with
both

B With imprisonment for a term which may extend to one year and with fine extending to one thousand rupees or with
both

c With imprisonment for a term which may extend to six months and with fine extending to ten thousand rupees or
with both

D With imprisonment for a term which may extend to six months and with fine extending to one thousand rupees or
with both

E None of the above

Correct Answer A

Marks 1



Question Description Which of the following is NOT a feature of the UAPA?

A It extends to the whole of India.

B It defines "terrorist act" and "terrorist".

c It allows for detention of suspects for up to 180 days without trial.
D It criminalizes fundraising for terrorism.

E None of the above

Correct Answer C

Marks 1



10 Question Description

11

Correct Answer

Marks

Question Description

Under The Goa Children’s Act 2003 Child in case of child labour shall be a person who has not completed the -------

14 years of age
15 years of age
16 years of age
18 years of age

None of the above

A
1

Consider the following rights :
i. Freedom of conscience and free profession, practice and propagation of religion
i. Right of minorities to establish and administer educational institutions
i. Right of citizens to conserve language, script or culture of its own

iv. Right to own and acquire movable and immovable property by religious denominations.

How many of the above rights come under the purview of Right to Freedom of Religion enshrined under Indian
Constitution?

Only one

Only two



Correct Answer

Marks

Only three
All four

None of the above



12" Question Description Under Goa Civil Code, which of the following assets wherein parents have right only to administration

A The assets acquired by the children while the children are in the company of the parents, if they were acquired using
means or capital belonging to the said parents, notwithstanding the right to remunerate the children, by giving them
a part of the said assets.

B The assets acquired by the children, when they are in their company through their own work, industry and resources
or by any gratuitous means.

c The assets gifted or left to the children with the exclusion of the usufructs of the parents.

D The assets acquired by the children through their own work and industry living on their own with the permission of
the parents.

E None of the above

Correct Answer C

Marks 1



13

Question Description

A

Correct Answer

Marks

Without prejudice admissions are covered under
Sec.19 of BSA

Sec.21 of BSA

Sec.23 of BSA

No such concept is applicable in BSA 2023

None of the above



14" Question Description In criminal cases an appeal lies to the Supreme Court if the High Court :

i. Has on appeal reversed an order of acquittal of an accused person and sentenced him to death or to imprisonment
for life or for a period of not less than 7 years

i. Has withdrawn for trial before itself any case from any Court subordinate to its authority and has in such trial
convicted the accused and sentenced him to death or to imprisonment for life or for a period of not less than 10
years

i. Consider that the case is a fit one for appeal to the Supreme Court

Choose the correct statement(s):

A i and iii only

B only ii

c ii and iii only

D only iii

E None of the above
Correct Answer C

Marks 1



15 Question Description . . .
The NIA can investigate a case on its own accord, or on the request of:

A High Court

B District Magistrate

c The State Government
D All of the above

E None of the above
Correct Answer D

Marks 1



16 Question Description Consider the following statements about “ Minority Educational Institutions”

i. Schools run by minority communities need to reserve a minimum number of seats for children from economically

backward classes

i. Linguistic and religious minorities can demand that their children must study in any educational institution except

those managed by their own community
i. Minority educational institutions can have a separate admission process which is fair, transparent and merit based.

iv. They can change the capitation fee

Which of the following statements written above is/are correct?

A i and iv only

B iii only

c i, i1, and iii only

D i and iii only

E None of the above
Correct Answer B

Marks 1



17 i it . . . .
Question Description In India, Fundamental duties were incorporated on the recommendations of

A Verma Committee

B Swaran Singh Committee
c Vardachari Committee

D Shah Committee

E None of the above
Correct Answer B

Marks 1



18 Question Description Mr.X was arrested at Bangalore for the offence which can be tried either at Sessions court Bangalore or at Sessions
Court Panjim . The Sessions Court of Bangalore has started trial. Mr.Xwishes to transfer his case from Sessions

court Bangalore to Sessions court Panjim. Before which court he has to file an application for transferof the case

under BNSS.
A High Court of Bombay, at Goa
B High Court of Karnataka at Bangalore
c Either of the above court
D Supreme Court
E None of the above

Correct Answer D

Marks 1



19 Question Description Underthe Goa Children’s Act 2003 whoever commits any Grave Sexual Assault shall be punished with

imprisonment of either description for a term ---

A That may extend to three years and shall also be laibale to fine of Rs.1,00,000

B That may extend to Seven years and shall also be liable to fine of Rs.1,00,000

c Shall not be less than seven years but which may extend to life imprisonment and shall also be liable to fine of
Rs.2,00,000

D Shall not be less than Ten years but which may extend to life imprisonment and shall also be liable to fine of
Rs.2,00,000

E None of the above

Correct Answer D

Marks 1



20 Question Description When was the terrorist act accumulated in UAPA?

A 2003

B 2004

c 2005

D 2006

E None of the above
Correct Answer B

Marks 1



21" Question Description One of the accused in Nirbhaya case died ---

A During attack

B While on bail

c While on the run
D In the prison

E None of the above
Correct Answer D

Marks 1



22 Question Description What is the new maximum punishment for cases involving multiple offences under BNSS?

A 10 years

B 14 years

c 20 years

D Life imprisonment
E None of the above
Correct Answer C

Marks 1



23 Question Description Which one of the statements given below does not concern secondary evidence which is defined under Sec.58 of the
Bharatiya Sakshya Adhiniyam( BSA) 2023

A Copies made from or compared with original

B Document itself produced for the inspection of the Court

c Oral accounts of contents of document given by some person
D Certified copies given under provisions hereinafter

E None of the above

Correct Answer B

Marks 1



24 Question Description What is the maximum period for which a person can be detained under the NSA without a trial?

A 3 months

B 6 months

c 12 months

D 24 months

E None of the above
Correct Answer C

Marks 1



25 Question Description Under which one of the following Articles, the Supreme Court has been given the powers to review any judgement

pronounced or order made by it previously?

A Article 130

B Article 137

c Article 138

D Article 139

E None of the above
Correct Answer B

Marks 1



26 Question Description Which of the following section deals with Presumption as to offences under Scheduled Castes and the Scheduled
Tribes ( Prevention of Atrocities) Act 1989

A Sec. 8

B Sec.9

c Sec.10

D Sec.11

E None of the above
Correct Answer A

Marks 1



27" Question Description Which of the following section deals with removal of disqualification attaching to conviction under Probation of
Offenders Act 1958

A Sec.11

B Sec.12

c Sec.13

D Sec.14

E None of the above
Correct Answer B

Marks 1



28 Question Description What is the position of law concerning the accused “plea of juvenility” under the JJ Act 2015?

A The plea of juvenility can only be raised at the court of first instance.

B The plea of juvenility can be raised at any stage of trial, even after the disposal of the case, before any court.

c The court should not ignore the plea of juvenility and must direct the proper inquiry to be conducted to ascertain the
age of the accused.

D both b and ¢

E None of the above

Correct Answer D

Marks 1



29

Question Description

A

Correct Answer

Marks

Punishment for penetrative sexual assault under Protection of Children from sexual offences Act 2012 is—
Imprisonment of either description for a term which may extend to 3 years and shall also be liable to fine

Imprisonment of either description for a term which shall not be less than 5 years, but which may extend to 7 years and
shall also be liable to fine

Imprisonment of either description for a term which shall not be less than 3 years, but which may extend to 5 years and
shall also be liable to fine

Imprisonment of either description for a term which shall not be less than 7 years but which may extend to
imprisonment for life and shall also be liable to fine

None of the above



30" Question Description Under which of the following legislations there is a provision that where an act or omission constitutes an offence
under two or more enactments, then the offender shall be liable to be prosecuted and punished under either or any of

those enactments but not be liable to be punished twice for the same offence.

A Bharatiya Nyaya Sanhita

B Bharatiya Sakshya Adhinayam
c General Clauses Act

D Prevention of Corruption Act
E None of the above

Correct Answer C

Marks 1



31

Comprehension

Question Description

Correct Answer

Marks

READ THE PASSAGE AND ANSWERTHE QUESTIONS:

I have seen too much hate to want to hate.... Somehow we must be able to stand up before our most bitter opponents
and say: “We shall match your capacity to inflict suffering by our capacity to endure suffering. We will meet your
physical force with soul force. Do to us what you will and we will still love you. We cannot in all good conscience
obey your unjust laws and abide by the unjust system, because non-cooperation with evil is as much a moral obligation
as is cooperation with good, and so throw us in jail and we will still love you. Bomb our homes and threaten our

children, and, as difficult as it is, we will still love you.

The speaker in the passage proposes to respond to hatred by matching the opponent’s

capacity to inflict suffering

physical force

hatred with love

soul force

None of the above

C
1



32

33

Comprehension

Question Description

Correct Answer

Marks

READ THE PASSAGE AND ANSWERTHE QUESTIONS:

I have seen too much hate to want to hate.... Somehow we must be able to stand up before our most bitter opponents
and say: “We shall match your capacity to inflict suffering by our capacity to endure suffering. We will meet your
physical force with soul force. Do to us what you will and we will still love you. We cannot in all good conscience
obey your unjust laws and abide by the unjust system, because non-cooperation with evil is as much a moral obligation
as is cooperation with good, and so throw us in jail and we will still love you. Bomb our homes and threaten our

children, and, as difficult as it is, we will still love you.

The unjust laws cannot be obeyed according to the passage because it goes against

the unjust system

the moral obligation

the evil

the conscience

None of the above



34

Comprehension

Question Description

Correct Answer

Marks

READ THE PASSAGE AND ANSWERTHE QUESTIONS:

I have seen too much hate to want to hate.... Somehow we must be able to stand up before our most bitter opponents
and say: “We shall match your capacity to inflict suffering by our capacity to endure suffering. We will meet your
physical force with soul force. Do to us what you will and we will still love you. We cannot in all good conscience
obey your unjust laws and abide by the unjust system, because non-cooperation with evil is as much a moral obligation
as 1s cooperation with good, and so throw us in jail and we will still love you. Bomb our homes and threaten our

children, and, as difficult as it is, we will still love you.

In the context of the passage ,the phrase “as difficult as it is ”,refers to

the hardship of bombing of their homes

the threatening of their children

the challenge of loving one’s inflictors of suffering

the possibility of loving one’s persecutors

None of the above

C
1



Comprehension

Question Description

A

Correct Answer

Marks

35

READ THE PASSAGE AND ANSWERTHE QUESTIONS:

I have seen too much hate to want to hate.... Somehow we must be able to stand up before our most bitter opponents
and say: “We shall match your capacity to inflict suffering by our capacity to endure suffering. We will meet your
physical force with soul force. Do to us what you will and we will still love you. We cannot in all good conscience
obey your unjust laws and abide by the unjust system, because non-cooperation with evil is as much a moral obligation
as 1s cooperation with good, and so throw us in jail and we will still love you. Bomb our homes and threaten our
children, and, as difficult as it is, we will still love you.

The phrase “non-cooperation with evil ”’in the passage implies
cooperation with good

resisting an unjust system

a moral victory

all of the above

None of the above



Comprehension

Question Description

Correct Answer

Marks

READ THE PASSAGE AND ANSWERTHE QUESTIONS:

I have seen too much hate to want to hate.... Somehow we must be able to stand up before our most bitter opponents
and say: “We shall match your capacity to inflict suffering by our capacity to endure suffering. We will meet your
physical force with soul force. Do to us what you will and we will still love you. We cannot in all good conscience
obey your unjust laws and abide by the unjust system, because non-cooperation with evil is as much a moral obligation
as 1s cooperation with good, and so throw us in jail and we will still love you. Bomb our homes and threaten our

children, and, as difficult as it is, we will still love you.

As an ethical act ,“cooperation with good” is described in the passage as being an equivalent of
non-cooperation with evil

moral obligation

forgiving your opponent

loving in the face of hatred

None of the above

A
1



36 Comprehension

Question Description

Correct Answer

Marks

Read the passage below answer the Questions:

Depending on what and how you communicate with others or conduct yourself, you will either draw people close to
you or drive them away from you. The largest content of non-verbal communication is contributed by what is popularly
called body language. Depending on what this speaks you would get a red-carpet welcome or rejection. Hence, it is
important to know where you stand. It is equally important to know the requirements of different situations, time and
place to ensure you are able to take care of your own acceptance .In a tradition-ruled country like India, body conduct
has an important relevance in valuing relationships and individuals. If your general disposition is good you will readily
emit sparks that make you the centre of happenings. Expression of the eye, good eye contact makes your interlocutor

feel, you are keen to live life. Sensitive people keep changing their expression and literally swing up or down.

As per the passage, the main basis for one’s enthusiastic social acceptance depends on one’s

body language

large content of non-verbal communication

conduct

communication

None of the above



37

Comprehension

Question Description

Read the passage below answer the Questions:

Depending on what and how you communicate with others or conduct yourself, you will either draw people close to
you or drive them away from you. The largest content of non-verbal communication is contributed by what is popularly
called body language. Depending on what this speaks you would get a red-carpet welcome or rejection. Hence, it is
important to know where you stand. It is equally important to know the requirements of different situations, time and
place to ensure you are able to take care of your own acceptance .In a tradition-ruled country like India, body conduct
has an important relevance in valuing relationships and individuals. If your general disposition is good you will readily
emit sparks that make you the centre of happenings. Expression of the eye, good eye contact makes your interlocutor

feel, you are keen to live life. Sensitive people keep changing their expression and literally swing up or down.

Identify from the options provided, which one is particularly significant in a country like India for being socially

accepted, as implied in the passage

tradition

valuing relationships

individuals

proper body conduct



E None of the above

Correct Answer D

Marks 1



38 Comprehension Read the passage below answer the Questions:

Depending on what and how you communicate with others or conduct yourself, you will either draw people close to
you or drive them away from you. The largest content of non-verbal communication is contributed by what is popularly
called body language. Depending on what this speaks you would get a red-carpet welcome or rejection. Hence, it is
important to know where you stand. It is equally important to know the requirements of different situations, time and
place to ensure you are able to take care of your own acceptance .In a tradition-ruled country like India, body conduct
has an important relevance in valuing relationships and individuals. If your general disposition is good you will readily
emit sparks that make you the centre of happenings. Expression of the eye, good eye contact makes your interlocutor

feel, you are keen to live life. Sensitive people keep changing their expression and literally swing up or down.

Question Description ) ] o
Find the word or phrase in the passage that means “warm and willing acceptance”

A

red carpet welcome
B

draw people
C

body conduct
D All of the above
E None of the above
Correct Answer A

Marks 1



39 Comprehension Read the passage below answer the Questions:

Depending on what and how you communicate with others or conduct yourself, you will either draw people close to
you or drive them away from you. The largest content of non-verbal communication is contributed by what is popularly
called body language. Depending on what this speaks you would get a red-carpet welcome or rejection. Hence, it is
important to know where you stand. It is equally important to know the requirements of different situations, time and
place to ensure you are able to take care of your own acceptance .In a tradition-ruled country like India, body conduct
has an important relevance in valuing relationships and individuals. If your general disposition is good you will readily
emit sparks that make you the centre of happenings. Expression of the eye, good eye contact makes your interlocutor

feel, you are keen to live life. Sensitive people keep changing their expression and literally swing up or down.

Question Description i ) ) ) ) . ) ) o )
From the options given below, identify a suitable synonym for the term “interlocuter”in the sense in which it is used in

the passage
A .
minstrel
B . .
conversationalist
c )
conversational partner
D
schmoozer
E None of the above
Correct Answer C

Marks 1



40 Comprehension

Question Description

Correct Answer

Marks

Read the passage below answer the Questions:

Depending on what and how you communicate with others or conduct yourself, you will either draw people close to
you or drive them away from you. The largest content of non-verbal communication is contributed by what is popularly
called body language. Depending on what this speaks you would get a red-carpet welcome or rejection. Hence, it is
important to know where you stand. It is equally important to know the requirements of different situations, time and
place to ensure you are able to take care of your own acceptance .In a tradition-ruled country like India, body conduct
has an important relevance in valuing relationships and individuals. If your general disposition is good you will readily
emit sparks that make you the centre of happenings. Expression of the eye, good eye contact makes your interlocutor

feel, you are keen to live life. Sensitive people keep changing their expression and literally swing up or down.

Read the following premises derived from the passage carefully and state whether they are true or false
(1)It 1s important to know how good or bad one is, with regard to body language

(i1) One’s response to the time, place and nature of situation decides one’s social acceptance or rejection

Statements (i)and(ii)are both false

Statement(1) 1s false but statement (i) is true

Statement(i) is true but statement(ii) is false

Statements(i)and(ii)are both true.

None of the above



1" Question Description Which country is hosting the World Para Athletics Championships for the first time in 2025?

A India

B China

c Japan

D South Korea

E None of the above
Correct Answer A

Marks 1



42 Question Description Which company recently received the GMPCS licence to launch satellite internet services in India?

A OneWeb
B Jio Satellite Communications
c Starlink
D Project Kuiper
E None of the above
Correct Answer C
Marks 1
43 Question Description In which city is India’s first e-waste recycling park being developed?
A Bengaluru
B Hyderabad
c New Delhi
2 Chennai
E None of the above
Correct Answer C

Marks 1



44 Question Description Which militant group leader was killed by security forces during Operation Black Forest?

A Madvi Hidma
B Arjun Tanti
c Sandeep Kumar
D Ramesh Kol
E None of the above
Correct Answer A
Marks 1
45 Question Description Goa Police recently recovered a significant amount of a highly valued substance, often referred to as "floating gold,"

leading to three arrests. What was this substance?

A Gold ingots

B Diamond dust

c Ambergris

D Rare earth minerals
E None of the above
Correct Answer C

Marks 1



46 Question Description On which date is Sustainable Gastronomy Day observed annually?

A April 7

B May 22

c July 5

D June 18

E None of the above
Correct Answer D

Marks 1



47" Question Description The High Court of Bombay at Goa recently dismissed a petition challenging the state government's decision to
commence the new academic year early (April 7, 2025). What was the primary argument put forth by the petitioners
that the court rejected?

A The decision violated the fundamental right to education

B Holding classes during peak summer would harm students' health.

c The new academic calendar was not synchronized with national standards.
D There was insufficient funding allocated for the early start.

E None of the above

Correct Answer B

Marks 1



48 Question Description What is the name of the first Anti-Submarine Warfare Shallow Water Craft commissioned by the Indian Navy in June

20257
A INS Viraat
B INS Arihant
c INS Arnala
D INS Vela
E None of the above
Correct Answer C

Marks 1



49 Question Description What is the maximum range of India's newly developed variant of the Pinaka missile system to be inducted?

A 300 km

B 250 km

c 200 km

D 150 km

E None of the above
Correct Answer A

Marks 1



%0 Question Description Which large-scale civil defence exercise was conducted across over 240 districts in India?

A Operation Suraksha
B Operation Abhyaas
c Operation Raksha
D Operation Shivir

E None of the above
Correct Answer B

Marks 1



1 Question Description Find the odd term from given alternatives.

A APO

B AOU

c IOE

D EIU

E None of the above
Correct Answer A

Marks 1



52 Question Description Answer the following questions based on the arrangement given
below:
B@C7NR%58G6KM&4S#PU
5

If the numbers which are preceded by letters interchanged their positions and those letters were changed to the
next letter in the alphabetical series, then which of the following elements are the fourth from the left end and
the eleventh from the right end?

A F and 7

= 6 and D

c Aand $

D D and 6

E None of the above
Correct Answer D

Marks 1



53 Question Description A small business owner receives an offer to sell their company for a large sum. The business is profitable but struggling
to grow. What factor should be MOST important in their decision

A The immediate financial
gain

B The potential for future
growth

c The impact on employees

D Personal attachment to the
business

E None of the above

Correct Answer B

Marks 1



%4 Question Description The sum of the present ages of a father and his son is 60 years. Six years ago, the father's age was five times the age of
the son. What will be the son's age after 6 years?

A 20 years

B 14 years

c 22 years

D 18 years

E None of the above
Correct Answer A

Marks 1



%5 Question Description Jonathan drives to the stadium for watching a football final. At 6.05 pm, one fifth of the way to the stadium, he passes a

church. At 6.15 pm, one third of the way to the stadium, he passes a poultry farm. At what time does he reach the

stadium?
A 6.45 pm
B 7.00 pm
c 7.05 pm
D 7.10 pm
E None of the above
Correct Answer C

Marks 1



%6 Question Description A story revolves around a young artist who struggles for years, facing rejection and financial hardship. Despite
numerous setbacks, she continues to paint, driven by an internal passion. Eventually, one of her paintings is recognized,

leading to a successful career. What is the most fitting theme for this story?

A The importance of financial stability for artists
B The futility of pursuing a career in the arts

c The triumph of perseverance and passion

D The role of luck in achieving success

E None of the above

Correct Answer C

Marks 1



57" Question Description A shop offers a 20% discount on an item. If a customer uses a coupon for an additional 10% off the discounted price,
and the final price paid is Rs. 360, what was the original price of the item?

A Rs. 450
B Rs. 480
c Rs. 500
D Rs. 540
E None of the above
Correct Answer C
Marks 1
%8 Question Description Assuming the given statements to be true, decide which of the conclusion is true, disregarding the commonly known
facts
Statements
. All locks are keys

Il. All chains are locks

Conclusions:

a. all keys are locks
b. all chains are keys
c. all locks are chains

d. some chains are not keys



¢ c
D d
E None of the above
Correct Answer B

Marks 1



%9 Question Description In a company employees and managers are in a ratio 7:3. 70% of the employees and 30% of the managers take lunch in

the canteen. What percentage of total workforce take lunch in the canteen?

A 42%

B 60%

c 55%

D 58%

E None of the above
Correct Answer D

Marks 1



60 Question Description In a certain code language, if 'TIGER' is written as 'UKJHW', how is '"HORSE' written in that code?

A IQUWJ
B IQUVK
c JPWV]
D IQUWI
E None of the above
Correct Answer A
Marks 1
61 Question Description Find the next number in the sequence: 190, 94, 46, 22, 10, 4
A 0.5
B 1
(o 1.5
D 2
E None of the above
Correct Answer B

Marks 1



62 Question Description If'A'is coded as 1, 'B' as 2, ..., 'Z' as 26, what is the sum of the letters in the word 'COMPUTER'?

A 100

B 110

c 120

D 130

E None of the above
Correct Answer B

Marks 1



®3 Question Description Statement: Should competitive examinations for professional courses be completely online?

Arguments: 1. Yes, this will reduce the carbon footprint associated with printing and transporting materials and can

provide faster results.

II. No, it creates a digital divide, disadvantaging students from rural or low-income backgrounds who may lack access

to reliable internet and computers.

A Only argument I is strong
B Only argument II is strong
c Both I and II are strong

D Neither I nor 11 is strong

E None of the above

Correct Answer C

Marks 1



64 Question Description If 'P' means 'addition’, 'Q' means 'subtraction', 'R' means 'multiplication’, and 'S' means 'division', what is the value of 6

P3R2S4Q5?
A 10
B 12
c 14
D 16
E None of the above
Correct Answer C

Marks 1



65 Question Description

Understand the pattern in the given figure and find the missing number

4 |9
6 [20(7 |6
5 |39|51]10
8 |7
A 45
B 32
c 54
D 28
E None of the above
Correct Answer A

Marks 1



®6 Question Description A train travels 60 km in 1 hour. How far will it travel in 3 hours at the same speed?

A 180 km
B 200 km
c 220 km
D 240 km
E None of the above
Correct Answer A
Marks 1
67" Question Description If the cost price of 10 articles is equal to the selling price of 12 articles, what is the profit percentage?
A 20%
B 25%
c 30%
D 40%
E None of the above
Correct Answer B

Marks 1



68 Question Description Identify the next term in the series: A1Z,B3Y,D6X,G10W . K15V,...

A P21U

B 021U

c P22T

D 022T

E None of the above
Correct Answer A

Marks 1

®9  Question Description Raju walks 20 m to west, turns left and walks 20 m and turns left and walks 20 m and again turns left and walks 20 m.

Which is the direction he is facing now?

A north

B south

c east

D west

E None of the above
Correct Answer A

Marks 1



70" Question Description Select the pair of words that are related to each other in the same way as the two capitalized words

PAPER:WOOD
A ink: colour
B brush: paint
c brick: clay
D cloth: dresses
E None of the above
Correct Answer C

Marks 1



1 Question Description In an interview panel, seven members are sitting in a row. A is in between D & F, C is in between F & G. G is between
C & E and D is in between B & A. Find the person sitting in the middle.

A D
B F
c B
D A
E None of the above
Correct Answer B

Marks 1



72 Question Description If in a certain language, REASON' is coded as '5' and 'BELIEVED' as '7', what is the code for' GOVERNMENT"?

A 6

B 8

c 9

D 10

E None of the above
Correct Answer C

Marks 1



73 Question Description A man can complete a work in 12 days, and another man can complete the same work in 15 days. How long will it take

for both to complete the work together?(if answer is coming in decimal it can be round of )

A 6 days

B 7 days

c 8 days

D 9 days

E None of the above
Correct Answer B

Marks 1



74 Question Description Six people—A, B, C, D, E, and F—are sitting in a straight line facing north. C is sitting between A and E. D is not at
the end. B is sitting to the immediate right of E. F is not at the right end. Who is sitting at the extreme right end?

A B

B E

c C

D Cannot be determined
E None of the above
Correct Answer A

Marks 1



75 Question Description Read the following statement and answer the question:

"All successful entrepreneurs are risk-takers. Some risk-takers are reckless. Therefore, some successful entrepreneurs

are reckless."

Question: Which of the following statements, if true, would most weaken the conclusion?

A Many reckless individuals are not entrepreneurs
B All reckless individuals are risk-takers.

c No successful entrepreneur is reckless

D Some non-entrepreneurs are risk-takers.

E None of the above

Correct Answer C

Marks 1



